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    PHYSICAL SCIENCES GRADE 11 

QUESTION 1







1.1  Ampholyte


   (1)




1.2  Super phosphate

   (1)


1.3  Isotopes


   (1)










           [3]







QUESTION 2

2.1  
Either (elimination reactions…) or (Unsaturated to saturated)

   (2)

2.2  
and released … or   Endothermic





   (2)

2.3  
mol(e)








   (2)













[6]
QUESTION 3

	3.1
	A
	B
	C
	D

	3.2
	A
	B
	C
	D

	3.3
	A
	B
	C
	D








[3 X 2 = 6]





     



           TOTAL SECTION A : 15
QUESTION 4

4.1.1)
Zn   (   Zn2+   +   2e-
4.1.2)
Cu2+   +   2e-   (   Cu
4.1.3)
Zn

4.2a)
HSO4-
4.2b)
H2O
4.2c)
H3O+
4.2d)
SO42-
4.3.1)

4.3.2) Substitution
4.3.3) Dehydration
4.3.4) NO
4.3.5) Catalyst

QUESTION 5

5.1
The energy needed to start a reaction.
(


(1)

5.2
65 kJ
(







(1)

5.3
∆H = E(products) – E(reactants) (

     =  - 30 – 90


     =  - 120 kJ
(





(2)

5.4
ENDOTHERMIC. The forward reaction is exothermic releasing heat therefore 

the reverse reaction will absorb heat. ((
OR

Change in heat is positive.
((




(2)
5.5


1 mark for correct curve for endothermic. (

1 mark for correct catalysts curve
(



(2)

























[8]

QUESTION 6
6.1
Fe2O3
(



(1)

6.2
Acts as a reducing agent.
(
(1)

6.3
[image: image1.png]203 + 3CO0 —— = 28 + 3L0Z



  ((
(2)
6.4
Waste materials (sulphur and other heavy metals) can pollute rivers

Open cast mines destroy habitats. ((
 




(2)
6.5
Cyanidation.
(








(1)













[7]

QUESTION 7
7.1
            2 NaOH           +     H2SO4                     Na2SO4    +   2H2O (  ((bal)
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(5)



7.2.1

4NH3
            +     5O2
 

4NO    +        6H2O
Given mass:    750g



   750g
Given mol: 
n = m/Mr


    n =750/32

   = 750/17    (
     

       =23,44mol (
   = 44,12 mol


n (NH3) needed for 23,44mol O2  = 23,44 x 4/5
  = 18,75 mol



Thus enough NH3
available.  O2 is limiting reagent (


(5)
7.2.3

n (NH)    
:   
n(NO)



   4 

:
4



(or  
1
:
1)

Thus n(NO) = 18,75 mol (
                            n = m/Mr


18,75 = m/(14+16)



   m   = 18,75 x (14 + 16)



         = 562,56g








(3)

7.2.4

mass yield = 85/100  x 562,56  = 478,18g



(2)













[15]

TOTAL: 60 MARKS

      MEMO  SEPTEMBER 2009
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Reaction coordinate - time
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